
Name: _________________________ 
 

Write each expression as the logarithm of one expression: 
 

1.  log 9 log 8 log 6b b bc c c   

 
 

2.  
4 4 4 4

1 1
log 2 log 5 2log log

3 3
a b a b    

 
 
 
Evaluate: 

3. 
7 7

1
log 4 log

4
  

 
 
 

4. 3
4

9

27
3log

8
 

 
 
 

Solve: 
 

5.    2log 3 log log 3b b bt t t    

 
 
 

6.   4 4 4

1 1
log log 2 log 2

3 3
x x    

 
 

 

7.   6 6log 5 log 2x x    

 
 
 

8.     2

2 2log 9 5 log 1 2t t     

 
 



Answers:   
1. 𝑙𝑜𝑔𝑏12𝑐 

 

2. 𝑙𝑜𝑔4
100

𝑎10𝑏4
 

 
3. 𝑙𝑜𝑔71 = 0 

 
4. -1.5 

 
5. t = 6 

 
6. x = 2 

 
7. x = 9 

 
8. x = 3  


